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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :
1x10=10
TS Al R e vabm RotrpR bet o -

(a) What is meant by below poverty line?
A wiRaer craiz R qmm 2

(b) Define democracy.
SIToF e fia |

(c) Define the term ‘per capita income’.

TR WS g fa
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(2)

(d) What is meant by income

WWWﬁW?

(e) Deﬁne incrementa) capital-

In the context of Harrod-Do

RIC-TRY g
SRR Sige . Re

inequality?

output ratio
mar model.

s Sj\ﬁqq.‘(\,‘gonqq

() Whati ‘
1s the golden rule in Solow model?

s’ﬁa%mﬁ%ﬁ?

() Define natura) growth rate,
€.

Wﬁﬂ'ﬁmq{mﬁml
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(3)

What is meant by absclute poverty?

v Wge e 1 3@ ?

What is meant by endogenous growth?
e Rert 3o & 380 2

Define a political institution.

B TRARE SHTR Ae f |

Mention a measure of growth to study
international variation.

RIPR AT ARG MR A IR
91 % TeEy F91 | :

What is meant by vicious circle of
poverty? '
wRer “Rve e [ 32

What is the HDI rank of India in UNDP
Human Development Report, 202 1-227?

UNDP ¥ Y1 ome 2fStawa, 2021-22F TS
SReR WA oW T pe (HDIR ¥
=2

What is steady state in Solow model?

5o wifEe fafie we= 2

==
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2. An :
SWer any five Questions very briefly : 2x5=10

.(4)

R o o8t s s oy e gy
(@ What ig
equilibrium? T W deifecdge
-4 Sty Tt R g2
(b) Define Ginj Coefficient,
ﬁﬁ TROR e iy
() Mention twg g;
and developntflirences etween growth
Repr o .
SR e O REOR S—

(d)

(e)
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Give two reasons g

WA o ! relative poverty.

T e forey
Mentfon
. 0
Which degar: fon-economic  factors
ment. ® economic develop-

3.

(9)

(h)

0

Answer any four of the following questions :
‘ Sx4=20

(5)

Mention two differences between Harrod
and Domar model of growth.

© qF ©IRT Rer fRT T o1~
T 01

Write two assumptions of Solow’s model
of long-run growth.

o) Tfera Rt nfEa 11 Sy o o
Give two examples of government
failure.

s Reeror o1 S a1

What is meant by disinvestment?

R 3 R 2

oo TR R e BiiRe e o«

(@)

(b)
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Discuss any three problems of
measuring economic development.

etafes Tmm Tewd R fofRe sem
HCALA F90 | v
Briefly discuss the factors which

influence economic development of an
underdeveloped country.

93 SRS (PR SR TReTe geR e
1 AP B AL 90 1
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(c)

(d)

(e)

(9)

1
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(6)

Write a note on inequality axioms.

TPIOR FenT 8Te 91 BT BT |

Justify per capita income as an index of
economic development.

YLARES T S5 Roreet SR S RSl
T

Discuss the concept of economic
inequality.

GRACT SPIOR YRANCH! SHCe T4 |

Discuss the need for balanced regional
development in case of underdeveloped
countries.

e WA cFS T R TR
ArEAIEe] I I |

Write a short note on rural-urban
economic gap.

A o TR SAST ¥R eoRS @bt oY
GOt forat 1

Explain how democracy and economic
growth are interlinked.

sieg W SR [RerT R sk,
R0 I

( Continued )

(7)

4. Answer any fourof the following questions : .

]

(a)

(b)

(c

(d)

(e)

1j)
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oppTRd R e wifor Ted fran -

Explain the various alternative
measures of economic development.

weftfee Tmes Rfen Res TormR I <1 |

Discuss the international variations in
per capita income (PCI) and human
development index (HDI) measures.

TR T S T T P TR WS
WREABE TSR T I |

Compare development trajectories
across nations and within them.

TR TS i 5T FooTe Tawer AU
T 41 |

Explain the construction of the Human
Development Index.
TR T SPIF Aol A 0|

Discuss the conditions of steady growth
in the context of Solow model.

v WIS wrRe fEfle Rerm TERR
S 9 |

Explain endogeneous growth theory.
e R S IRM A
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(8)

(g) Discuss the " main features  of
Harrod-Domar model of growth.

@e-TAA RerE wRBR @ WREemz
AT 9 |

(h) Explain the technique of Lorenz curve to
measure inequality.

Pl TR IR INTO ARG QIR
0 T

() Explain the role of State institutions in
economic development.

WWWWWWW
TR A 347 |

() Discuss, in detail, the consequences of
corruption in the economy.

aF I TR R Remere
TR |
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